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Introduction number of difficulties in the accurate and correct

In comparative meaning context, subject, translation of the text. In hereto scientific article, we
process, phenomenon and others are compared not for provide a structural and functional analysis of a
the purpose of analogy with the other, but for the number of problems that arise during the using of
purpose of distinguishing one from another. Thus, comparative constructions in Chinese.
both of the subjects that are being compared will have
the same character, feature. But this sign does not THE MAIN FINDINGS AND RESULTS
belong to the subjects that are being compared , with [A BRgén B....—Fyi yang]
not exactly the same degree, but different degrees. Of The constaructions [A flgen B....—FkEyi yding]
course, the subjects which are being compared are is one of the constructions that represent the similarity
opposed to each other by this diversity and the of an object, event, or situation, and is used to express
difference between s_ubjects are shown |nth|s_way [2, the equality of character, condition, quantity, or
p.238]. The words in the context of comparison are degree of two people or actions, and has the following
expressed in Chinese by the term tL%i%] bijido jiu. If form:
we look at the analysis of this word, L% bijido [A+ERgen+B+—FEAH [E/A—FEIAF
compares 4 ju which gives meaning of the sentence. +verb/adjective]. For example:
There is no equivalent of the words analogy in 1. FIRM—RE =
Chinese language, into Uzbek, all of which are called Wo gén ta yiyang gao.
compression tL§H) bijiao ji. | am as tall as him.

Chinese is one of the most difficult languages in 2. XAPBEIBAFA—FE,
the world. That is why all the elements are so Zhé bén shii gén na bén shii bu yiyang.
important in the process of learning Chinese. This book is not the same as that book.
Grammar is the foundation of the language while We shall evaluate some features using the prefix
learning the language. In the process of two- Flgen:
dimensional translation into Chinese, we face a
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Firstly, in Chinese there are not models such as [
tbbi ...—Ffyivang] or [tbbi ... AN—Ftbu yiyang].
There are only constructions like: [ERgen /Flhé/[F]
tong...—F¥yiyang] or [BRgen IFhél[Fltong.. A —F¢
bu yiyang]. For example:

<FRATT R 2K 1 23 158 B o IR FR AN — A

W6 men Gudjia de xiguan bi Zhongguo de bu
yiyang.

N BATE KA S R R — R

W6 men Guojia de xi guan gén Zhongguo de bu
yiyang..

The traditions of our country are not the same as
those in China.

Secondly, if the comparison is expressed with
geén, it is important to pay attention to the use of the
auxiliary wordfde [6, p.220]. For example:

< JR AR ERFD I —FE

W6 mdi de shii gen Mali yiyang.

NER S R I A —

W6 mdi de shii gén Mali de yiyang.

The book I bought is the same as Mali’s.

In the above sentence, Fiski is an object, and¥3
W Mali is a word that describes a person, and the two
cannot be compared. There fore, the particle f#jde
joining the connection should be used after the word
FON Meli, so that the ¥ Mdli de, the meaning of ¥
WIS Mdl de shii thus, becomes the book of Mali.
Another example:

< J A ] SR A — R

W6 de ci dian gen ta yiyang hdo yong.

N R R A — LA

W6 de ci didn gen td de yi yang hdo yong.

My dictionary is more convenient than his.

In this sentence, as in the case above, the drop in
ff1de leads to a change in meaning and shortcomings
in its application.

Thirdly, ttbi and —#fyiyang can never be used
together. For example:

VIX SR BRI S (R 2E) — K

Zhe zht gangbi gén na zhi (gangbi) yiyang.

XIXSTNAE LIS —FE

Zhe zhi gangbi bi na zht yiyang.

This pen is the same as that pen.

Fourthly, there is no [fyou...—Ffyiyang]
construction in Chinese, which is grammatically
incorrect. If such a mistake is made in a sentence, it
will lead to a grammatically and stylistically incorrect
sentence structure. Leads to the misunderstanding
between listener and speaker.

[Subject+iEk K itkyuelaiyue+verb (adjective or
verb)]

K yuelaiyues refers to the continuous
development and change of a person or object in
recent times. BKikyueldiyues is translated into
Uzbek more and more, which means that the level of
a situation increases or decreases compared to the

previous one [7, p.130]. The model of such statements
is as follows: [Subject+#kKHyueldiyue+verb
(adjective or verb)]. For example:

dih R R AR

Ta yuelaiyue piaoliang le.

She is getting more and more beautiful.

When we express the comparative degree using
Bk yueldiyue, the points to note are as follows:

Firstly, #Riflyuelaiyue is not used before a
simple verb in a sentence. For example:

< RUBCR R 15 KT .

Feng yue lai yue gua de da le.

VR LK T

Feng yuelaiyue da le.

V REIN R AR K T

Fenggua dé yueldiyue da le.

The wind is getting stronger.

The predicate coming after HCRiEkyueldiyue
should represent variability. It is usually
supplemented by a verb that expresses a quality or an
inner experience. For example, above sentence &
R K yuéldiyué da inside Kda [4, p.133].

Secondly, #K#yuelaiyue can not be used in
the sentence before the subject. For example:

xR ) POERIANZ T .

Yuelaiyue xuéxi hanyii de rén dud le.

NEESTDUB I NSRS Z T .

Xuéxi hanyu de rén yueldaiyue duo le

More and more people are learning Chinese.

Thirdly, the word expressing degree adverb can
not be used after &K ibkyueldiyue. For example:

* RABRMARIN T .

Tiangi yuelaiyue hen re le.

VRS HREA T .

Tiangi yuelaiyue reé le.

The weather is getting hotter and hotter.

Rk yueldiyue in recent changes denotes
change itself along with the degree of change, after
them degree adverbs R hen, dE% féichdang, L
bijiao can not be used. For example, the sentence “the
weather is getting hotter” can not be translated in
Chinese as following [6, p.206]. For instance:

XRAARGB AR T

Tiangi yuéldiyu feichang re le

X RAERRGBR EL A T

Tiangi yuelaiyue bijiao reé le.

< RABRBIR T

Tiangi yuelaiyu hen re le.

The form of the constructions in the comparative
context represented by & #yueldiyue differs from
the rest of the constructions in that, does not cause
difficulties for the speaker with its grammatical
features.

[ A+Hyou+ B +(IBA X ARFERXAE)
+predicate]
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The verb fHyou is used to compare the
characteristics, status, quantity, or degree of similarity
of two persons or two different actions, in sentences
comparing by % you, the verb Fyou indicates that A
has reached the level of B [10, p.159]. The form of
such statements as follows:

[A+H yourB+(IE A LX A BFEZFE)+
predicate]. For example:

L3N (A R 3 AR 4 K

Zhe ge fangjian you nage fangjian name da.

This house is as big as that house.

2. KA B WA 4

Na tido hé you zhe tido hé zhéeme chang.

That river is as long as this river.

When we use the verbFyou in the sentences to
make a comparison, we need to pay attention to the
following.

Firstly, there is no construction [Byou ...— i
yang] in Chinese. For example:

L ERIRIRA e

W6 meiméi you wo yiyang gdo.

I am the same height as him.

2. < REAPERAA—FE.

Zhe ben shit you na bén shit bu yt yang.

This book is not the same as that book.

Secondly, in the sentences that are compared by
Hyou indicates that A has reached the level of B,
usually 1X 4 zhéme, iXF¥zhe yang, H-4 name yoki H
FEnayang are used after the verb Hyou, but —F¢yi
yang is never used. The construction [Rgén...—F
yiyang] is one of the most stable constructions. For
example:

IR IAA H—HE .

W6 méiméi you wo yiyang gdo.

NERIR AT TR IX 4 7

W6 meimeéi you wo zhéme gao.

My sister is as tall as me.

NEROR IR IR —FE 7

W6 meiméi gén wo yiyang gao.

My sister’s height is the same as mine.

In some cases, we may come across the first
examples of the above in an oral speech. There isno [
Hyou...—Ffyiyang] construction in Chinese, which
is grammatically incorrect. If such a mistake is made
in a sentence, it will lead to a grammatically and
stylistically incorrect sentence structure. Causes
misunderstanding between listener and speaker.

[A+EL+ B+verb or adjective +(object)]

The prefixttbi is used to denote the difference
between the quality and the degree, high or low, and
is used mainly in the levels of two people, two subjects
or two cases, different in comparison. If the
comparison object is compared with prefix i, the
predicate reflects the result of the comparison.

Semantically, in the main structure modifier
takes place between the subject predicate and the

prefix bbb acts as a modifier [6, p.250]. The structure
of this type of sentence is as follows: [A+Lt+ B+verb
or adjective +(object)]. For example:

1. A b a5 S HE B

Ta bi ta didi congming.

He is clever than his brother.

2. WERILASRABRZ

Zuotian bi jintian lengdé duo.

Yesterday was colder than today.

In _order to prevent the mistakes while using
prefix ¥ in the sentences the followings should be
paid attention:

1) The word {Rhén very can not be used in the
sentences where degree of adverb Lthi is used.

x3 5 o L RAR 7

W6 didi bi wo héngdo.

VR R ER .

W6 didi bi wo gao dedud.

VRS REZ T .

W didi bi wo gdo dudle.

My brother is higher than me.

Besides, the adverbs illustrating the degrees,
such as 3E¥feichdng, #ji can not be used in the
sentences where the prefixtbiis used. If there is a big
difference in the opinion then [t b7 ... 18 £ dedud] or
[Etbi...... %2 T dudle] constructions can be used [4,
p.122].

2) Quantity object can not be used in front of the
adjective

*F 2 B L — Sk

W6 di di bi wo yi tou gao.

VB B 3k

W6 didi bi wo gao yitou.

He is a head higher than me.

Quantitative phrase in the above sentence —3k
yitéou as adjective figdo is considered as quality
object. The following rule s established in the Chinese
language grammar: “If comparative degree is carried
out with the prefix tbbi, the quantity phrase acts as a
quantity ojbect and should be used after the adjective”
[6, p.205]. The structure of this type of sentence is as
follows:

[Et+person/subject+adjective+ quantity word
combinations]. For example:

1 xbefh—2 7,

Bi ta yi sui xido.

VEAt N —% .

Bi ta xido yi sul.

He is one year younger than him.

2. xHE IS % Ty i =K 5

Bi natido malu san mi kuan .

VELHS 2 T % 98 =K.

Bi natido malu kuan san mi.

It is three meters wider than the highway

3) Degree of adverbs can not be used in front of
verbs. For example:
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<& RELLIDIN oK. My level of Chinese is not higher than Mali’s.
Jintian wo bi Mdli zdo ldi. 6) If comparison is carried out with the prefix Lt
AR I LG RS bi, negative adverb A<bu, should be used before the

Jintian wo bi Mali ldi de zdo.

Today, | came earlier than Mali.

The above sentence compares who came earlier.
F.zi0, 3Klai are considered degree objects. The
following rule is established in the Chinese language
grammar: if the comparative degree is carried out with
the prefixtl.bi, prefix f4de should be used in front of
the degree object [6, p.226]. The structure of this type
of statement is as follows: [Ltbi+person/subject
+predicate + #5d¢é + degree of object] For example:

1. < EeA PR

Bi ta kuai pdo.

VEC Al AR P

Bi ta pdo dé kuai.

He runs faster than him.

2. <.

Biwo hao xué.

VH AT

Biwo xué de hdo.

He reads better than me.

4) Degree and quantity objects can not be used
subsequently . For example:

< FR LGN KA B

Wo bi Mdli ldi de zdo shifen zhong.

NER FEID N R4

W6 bi Mdli zdo ldi shifen zhong.

I came ten minutes earlier than Mali

The quantity object +4>#lishi fenzhong and>k
4 5L14i dé zdo are used above sentence. The following
rule is established in Chinese language: if comparison
is used with prefx Ltbi, two objects can not be used in
one sentence subsequently. In this situation the degree
object £5dé will be omitted, the adjective F-zdo makes
condition, is used before the verb >Kldi [7, p.30]. The
structure of this type of statement is as follows: [Ltbi
+person/predicate+adjective (condition maker)+verb-
predicate + quantity object]. For example:

1. x EE AT AN NS

Biwo lai de wdn ban ge xidoshi.

VELR i A /N

Biwé wanlai ban ge xidoshi.

He came for half an hour later.

2. xEolh 249 2 AR

Bi ta xuédé duo shige shengci.

Vit 2 2 AR

Bi ta duo xué shige shengci.

He learnt more than ten words.

5) Negative adverb 4 b2 can not be used before
predicate. For example:

< FRAIDE 7K L F R A DU KA

W6 de hanyti shuiping bi Mali de hanyii shuiping
bu gdo.

NFR BB KT LGS I 6 U8 KT

prefix LLbi [9, p.154].

7) If there is a big difference between the
opposing parties while comparing the sentences with
prefixestl.bi, constructions [Fibi. .. 43 £ deduo] or [Lt
bi...% Jduole] can be used .But these two
constructions can not be used together.

For example:

xR LIS R 2 T .

W6 pdo dé bi md li kuai de duo le.

VIR 1R LI A £

W6 pdodé bi Mali kuai de duo.

VBB LLIBITEZ T .

W6 pdo dé bi ma i kuai duo le.

| run faster than Mali.

8) The age is expressed with %/ sui not with
. For example:

LAWK S, LR —% .

W6 bi ni da lidng sui, ta bi ni xido yi sui.
*FRECARK A AR EL RN —4F

W6 bi ni da lidng nian, ta bi ni xido yi nidn.

I am two years older than you. He is younger
than you.

2 NTAAR L TR =%

Wang bo mii bi wang bo fu xido san sul.

x FAABELL FAASDN =4

Wang bo miui bi wang bo fi xido san nian.

The aunt Vang is three years younger than uncle
Vang.

9) If the same subjects is compared and changed
in two different time samples the word illustrating
time is used after the prefixttbi. For example:

L XEZ TSR LRI 2 .

Zhe hai zi de shén ti bi yigianhdo dé duo.

The child’e health is much better than before.

2. M B AR HL ZAE BT 9 AR 2

Ta de shenti bi sannian qian qiang zhuang dé

nian

duo.

Her health is much better now than it was three
years ago.

In this case it is not possible to use words
denoting time before the prefix Ltbi

10) If both subjects and predicates are not the
same, in this case, abbreviation can not be used. For
instance:

PRz ER EeAtz K % .

Ni chi yan bita chimi dué.

You eat more salt than rice.

Since rice or salt are different here, omitting one
will affect the meaning of the sentence [8, p.143].

[—yi + amount word + Ebbi + number —yi +
amount word]

The construction comes as a function of the
condition in the sentence, indicating that the
difference in level is gradually changing. It is
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impossible to use prefixes — X Lt — Kyitian bi yitian,
—HEt—%yinian bi yinian, —IXL—1Ryici bi yici
in front of the subject. For example:

LARS—RE—RutrT .

Tiangi yitian bi yitian liangkuai le.

= RE—RRAERT .

Yitian bi yitian tiangi liangkuai le.

The weather is getting colder day by day.

2 VANRIAEE—F L —HEEE.

Rénmin de shénghuo yinian bi yinian fengfu.

xR N R AE .

Yi nian bi yi nian rén min de shéng huo feng fu.

The population is getting richer year by year.

The negative forms of the sentences with the
prefix bbb is Attbibi “The previous one is not
equal to the next one....” thus “it means that “A is not
as same as B”. But I the translation process it is
impossible to say that “B is as A...”. Thus it is
impossible to say * the latter is relate to next [10,
p.128]. For example: 4> RALLHERIA jintan bubi
zuotian léng it is translated like today is not as cold as
yesterday, that means today is hot. If it is translated as
yesterday was not colder than today, it meant that
yesterday was hot and today is cold, leads to the
change of the meaning.

We can express the negative form of statements
in the context of comparison in different ways. But in
the process of translating, one should not confuse
them with each other. For example: “He is not as tall
as mel” fALEFK Fita bubi wo gao” the negative
form of the sentence can be made in different forms:

MhEREEARL H . Ta gén wo chabudué gao.

fBIRIRA—FER . Ta gen wo bu yiyang gao.

b — 5 L. W6 bi ta gao yididnér.

Wb 3R = — 5 L. Ta bi wo gdo yididnér.

However, each sentence does not mean the same.
In such sentences/f b2 can not be used before
predicate. For example:

x Witk IRASNE . Ta bi wo b gdo.

x S RICHERABE. Jin tian bi zué tian bu
nuan.

Along with the negative form ofLtbi and ALk
bubi there are also negative form of #fméiysu [A
A~ EB] construction is a negative form of comparative
sentences, they must not be mixed with the forms of
A [%f méiyou B] (A B are not the same) or [A A1
B] (A is not equal to B ) They also have different
meanings [10, p.169]. For instance:

1 PR AR A LR A A AR A

Zhe jian yifu bubi na jian yifu zhdng.

It can not be said that this dress is longer than
that one

2. AR WA AR AL

Zhé jian yifit méiyou na jian yifii zhdng.

This dress is not as long as that one

3. XA A WA AL AL

Zhé jian yifu burii na jian yifit zhdng.

Your dress is not as long as that one

If any situation or event compared through A~ 40
buru, the degree difference of particular side of A and
B are shown. The structure of such statements has the
following construction:  [subject+ AN+  person
+predicate + object +repeated verbs +f3+ degree
objects]. Below we will look at their correct and
incorrect forms:

L < IRA AT HEBR ST

W6 buru ta dapdiqiu hdo.

ERA AT HEBRAT 13 47

W6 buru ta dapdiqiu da de hdo.

I can’t play volleyball as well as he does.

2. < AU 5 R

W6 bu ru Mdli xié han zi kudi.

NBA WIS B 5 AR

W6 burii Mdli xié hanzi xié dé kuai.

My hieroglyphic writing is not as fast as Mali’s.

CONCLUSION

The results of the article analysis came to the
following conclusions:

- In the context of comparison, one object,
process, or event is compared in order to distinguish
one from another, not to compare it with another. In
this case, both objects being compared have the same
characteristics. However, this sign does not apply to
the objects being compared to the same degree, but to
different degrees.

- [tkva —#£] never forms single constructions.
There are not models such as  [ALEB.....—#] or [Lk
..../N—F] in Chinese. There are only constructions
like [ER/FI/A......—FE] or [ER/AVIE.. A—FE].
There is no [f...—#£] construction in Chinese.

- If the comparison is made with the verb4, after
the verb 5, usually iX4, iXFf, 4 or A are
used, but —#¥ is not used. When compared by the
construction [AERB —Ff], the omission of the
auxiliary word ] de can lead to a change in meaning
and shortcomings in its use.

- R is not used before a simple verb in a
sentence. The degree adverbs 1, 3£, LL#: can not
be used after #&>K& ik the constructions.

- The prefix Lbbi is used to show the difference
between high or low adjectives and degrees, mainly
used in comparing two people, two objects, or
differences in the levels of two states. If the compared
object is compared with prefix Ltbi, the predicate
represents the result of the comparison: [A+Lt
+B+verb or adjective +(object)].

- [—+count word+tt+number—+count word]
comes as a function of the modifier and means that the
difference in level is gradually changing. It is not used
before the subject.
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- If the comparision is done with the presence of
the prefix Lk, it is not possible to use two objects at
the same time in the same sentence. The prefix Lt is
used to compare two people, the age is expressed with
%, but not with 4£. The differences of age is
expressed with K, /]\erbs.

- If the words before and after the prefix Lt are
similar, usually the next part of Ltis omitted. It does
not affect on the content. But if both subject and
predicate are different, then the abbreviation method
can not be used.

- It is not possible to use adverbs like 18, FE%,
% which means very inltt prefix participated
sentences If there is a big difference, then it can be
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